BXIOAP] S
<PX

341>A07 : =>F ; 4B
0CCA81DC4B C74
BD224BB >5 74A
1DB8=4BB C> C74 4EOQ0AC
2><<D=8CH

3KRVRVDQG 6VRU E\ 3KLO( LFK
6VRU YLGB! 6 RFLDODV SDUARI ViKH
0 LFKLIDQO DIQ 6WHHWEVRU

6 HUHV

: HKDG RZ QHG D LHWIDXWDQW
DQG EDUIQ &MWHIRU  \ HDW/
DQG \R@ VIKDWQ , GIGQW
WKION Z HZ RX@ J HWEDFN LOVR
VKLY EXVIQHW EXW( YDUAGLGQ W
UHD@ KDYH D IHWIDXWDQWZ KHH
\ RX FRX@ J HAD GUQN DQG D
EXUW HU@ RX KDG VR WDYHO

P LGN VR GR VKDW

0\ KXVEDQG DQG VRQ NHSW
WD\ LQJ Z H\VKRXG@S GR IMDQG
NHSVWD\ 1QJ QR $ QG VKHQ WH\
VDIG A HEGMK MVAJ R GRRN DW
VKLY EXLABLQJ BEHFDXVH VIKH\
NQHZ , Z RX@ @RYH MDQG HOWR\
I LQJ IMKS

- HERXJ KWKLY EXLABLQ) 1Q
1 RYHP EHURI DQG VIKHQ
RSHQHG 61[ W 0 DIQ %DUDQG
* U@IQ 2 FVREHURI

7KLV VROQH Rl VK\H RGHWV

EXIGBIQI VIQ VRZ Q EXLONQ
DQG IMZ DVIQ HDA EDG WKDSH

Z KHQZ HERXJKWW$ GRWRI
SISHVKDG ILR] HQ DQG EXWWHG
7KHR@ ERIGIUM WP Z DVIQ
WRXJIK WKDSH 7KH IGRRW/Z HH
FRYHUHG Z VK VXEI®RRUQJ DQG
FDUS HWOSX\VWAKH | LLHS @FH LV

RWJ LQDO/R WMH EXLABIQ) 7KH
WRQH SRUFK LV DQRWHUKXJ H

I HDWUH DQG LQ J IHDAFRQGIVIRQ@
Z KRHYHUGLG VKDWZ DV

P P HOWHO VDBIQWG

© HKDG  \ HDU/BH SHUHQFH
EHRUH RSHQLQJ VKLV DQG EXLOAD
WHSXVIMRQ | RUHUYLQJ J RRG
IRRG ) RRG VD ELJ VKIQJ IRUXV

© HKDYHD GRWRI GLIHHQW
WKIQIVRQVKHP HQX R\ RX
NQRZ Z H DUH GHILQIVA® QR
DEDUEXWP RUHRI D IHWIDXDQW
VK DWHUYHY DEFRKRO

, NQHZ WKLVEXIGBLQI KDG

HORXJ K FKDUIDFVIHUWMDAMZ RX@
DWUDFWSHRS®1 EXWP RWD |
NQHZ VIKDWWCHUH Z DV D QIEKH

< RAKP| < P{ BcaTTc Bcah BTaXb k?PVT



6 VK O DIQFRX@S ILQ@EHFDXVH VIKHUH Z DV QRWLQJ LQ ( YD
@H LW, JUHZ XS KHH \R, NQHZ VIKHFRP P XQIW DQG VKH
SRWQUDOMDWZ DVKHUH ( YDUAKDGQWKDG DQ\ VIKLQJ GNH VKLY
QD Z KL Z KHH\ RX FRX@ MWGRZ Q HVSHFLD@ Z Vi @I HU
JWRXSVRI SHRS® : HYHDFFRP P RGDWG SHRS®

Z IWKRX\WD LHVHUYDVMIRQ DQG VIKHIH V UHD@® QRWDQ\ SMFH HOH

\ RX FRX@ GR \KDW

, RYH ( YDUW@MH SHRS® DQG VIKH BRFDARQ 2 VKHUVKDQ P \
VHQLRU\ HDULQ KLJ K VFKRRO, DFWD@ VSHQWP \ HOWH @H 1Q
WKLY DUHD 7KHFRP P XQIW LV D QIFH ] H@WW QRVWR EL] VIKDW
\ RX J HWRVWQ ViKH FLRZ G, VIKLON ( YDUAKDV D GWRI SRVMQWDO
IRUJRZ VKK

@ HERWK . QRZ BV 2 Z QHURI 6] Vik DQG 0 DIQ ( YDV

%* 130 1% %3S
*+145 $. 0. 50D
3#1( 00 0,!+ (! 10
)4+ O(5%+*1305 0% . ! 3/
O /%S ) % +1( "V
| /108! 3/ *+0P¥6+%
12.0(% A% 131, §.! /+
%1308 N1 * O
,H0*4 0503/ $.!1

<RWWP| < PY§ BealTc Bchah BTaXIbk?PVT |






